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Cr = Ct-2Cm

Ct XY mm
 Cm Margin
Tape (mm)

Cr Z[XY
mm
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Iin=Pout/(Vin_min*η*cosθ)
Iin GH��

A
Pout Vin_min
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Iwp = Iin/[Л*(φwp/2)^2]
Awp = Cr/(φwp+0.03)
Iwp GH��
gh A/mm^2
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Q_` mm l
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Cr Z[XY
mm
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Iws = Iin/[Л*(φws/2)^2]
Aws = Cr/(φws+0.03)
IwspH��
gh A/mm^2
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]^Duty cycle
Ns/Np = (Vout+Vd)*(1-D) / Vin_min*D
q3D = (Vout+Vd) / (Vin_min*Ns/Np+Vout+Vd)
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Ip = Iav+∆I/2
Iav = Pout/Vin_min/D/η
∆I = Vin_min/Lp*D/Ft
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Ns/Na1 = Vs/Va1
Vs = Vd+Vout

Ns Na1 ���
�n�

Vs pH�

V
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Vd Vout
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Aws = Cr/(φws+0.03)
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]^Mosfet �pHuHv�Stress(��)
Vmos_max = Vin_max+Np/Ns*(Vout+Vd)

Vmos_max
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Vdiode_max = Vout+Ns/Np*Vin_max
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Bmax = Lp*Ip/Np/Ae*100
Bmax  VW
�a���
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Sp = (Л(φwp/2)^2)*Nwp*Np
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�� mm^2
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Ss = (Л(φws/2)^2)*Nws*Ns

Ss GH��
�� mm^2
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Sa1 = (Л(φwa1/2)^2)*Nwa1*Na1
Sa1 ����
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mm^2
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S = Sp + Ss + Sa1
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Sp Ss Sa1
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K = S/(Ct*Ch)

K�X:
S �_���
"   mm^2

Ct XY mm Ch X  mm
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Lg=0.4Л*Np^2*Ae*(10^-3)/Lp
Lg ¡¢£h

mm l

Np Ae cm^2 Lp
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Bmax¤VW�¥¦�§¨�©hª]^%«TDK Ferrite Core PC40"¬%100h­Bmax"3900Gauss%�
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